This Question Paper consists of 49 questions and 16 printed pages.
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2.
General Instructions:

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

23 Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4. Write your Question Paper code No. 68 / ESS /1-A on the Answer-Book.
5. (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any one
of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
Youkare required to indicate the language you have chosen to answer in the box provided in the Answer-
Book.
(b)  If youchoose to write the answer in the language other than Hindi and English, the responsibility for any
errors/ mistakes in understanding the question will be yours only.
6. In case of any doubt or confusion in the question paper, the English Version will prevail.
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SOCIOLOGY

(331)
Time : 3 Hours | [ Maximum Marks : 100
| : 3 90 ] [ gutiek : 100
Note : i)  This question paper consists of 49 questions in all.
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All questions are Compulsorﬁl.

Marks are given against each question.

For Optional Module, attempt all questions either from Optional Module I or Optional

Module II.

Section - A consists of Question Numbers 1 to 25 and 41 to 47, as follows :

(@) Q. No. 1 to 17 and 41 to 43 - are Multiple Choice Questions (MCQs) carrying 1
mark each (1x20=20). Select and write the most appropriate option
(A, B, Cor D).

(b) Q. No. 18 to 25 and 44 to 47 - are Other Objective Type Questions. Q. No. 18, 19
and 21 carries 2 marks (with 2 sub parts of 1 mark each) and Q. No. 20 carries 5
marks Ewith 5 sub parts of 1 mark each), Q. No. 22 carries 3 marks (with 3 sub
parts of 1 mark eac ?, Q. No. 23, 24 and 25 carries 4 marks (with 4 sub parts of 1
mark each), as well as Q. No. 44 to 47 carries 1 mark each. Attempt as per
instructions given therein with each such question at 18 to 25 and 44 to 47.

Section - B at number 26 to 40 and 48 to 49 consists of Descriptive Type Questions as

follows :

(@) Q. No. 26 to 31 and 48 - are Very Short Answer Type Questions, carries 2 marks
each (2x7=14), to be answered in the range of 80 to 120 words.

(b) Q. No. 32 to 38 - are Short Answer Type Questions, carries 3 marks each (3x7=21),
to be answered in the range of 150 to 200 words.

(c) Q.No. 39 and 40 and 49 - are Long Answer Type Questions, carries 5 marks each
(5x3=15), to be answered in the range of 400 to 500 words.

TH - H F 49 T T |

Tty e 2 |

T T % T o fed T 2

Srhfeudh Aiega | STUh! A1 Tl dehfeueh HISIS I A1 Jehfeddh ATSTet 11 % Tt T3 T 8 |

WUS - AT WA @A 19 25 2R 41§ 47 f1 gR T

(a) T HEA 19 17 3R 41 ¥ 43 - Tgfahedd YHR F U T, S TAE 1 3F H T
(1x20=20) | 37 Y H Fod 3T foshed (A, B, CI D) i iR fafau

(b) T WA 18 | 25 37X 44 § 47 - 1 TS T € | Fe TEA 18, 19 AR 21 Feo¥sh 2
3fehl 1 © (S SUNT % |1 YA I 1 3(h), Y9 H&A 20 % 5 3 & (W= U4 5
T Feoreh o1 1 37h), Fe WEA1 22 % 3 3o § (T SUHNT o W Yook o1 1 3ieh), T
T 23, 24 3R 25 YAF 4 3 H1 T (AR Y % WY Ge4h 1 1 3h), T AR
T T 44 Y 47 TAF 1 31 1 T | T T 18 | 25 7R 44 | 47 % IR < T T

% AR e |

WUE - B H Y T 26 ¥ 40 37X 48 H 49 F11 YR & FofAreTs ¥ € :

(a) T HEAT 26 § 31 3R 48 - 3Afiery T YHR F U, YA I 2 37k (2x7=14), 31
IR HT Tg T 80 F 120 VT ¥ |

(b) U WA 32 W 38 - Y WA YR o YA, T 1 3 37 (3x7=21), 3R IW ! I
T 150 ¥ 200 I<g T

(c) U W@ 39 3R 40 qAT 49 - ¥ IANA YR o U9 T, TIh ol 5 37k (5x3=15), 3R
I T TIsg HHAT 400 H 500 T T |
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NOTE/fd9r :

(1) Answers of all questions are to be given in the Answer-Book given to you.
Gt g9 o I MUhl S A I Yidem | 2 ford |

(2) 15 minutes time has been allotted to read this question paper. The question paper will be distributed
at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question paper only and
will not write any answer on the answer-book during this period.

T Y- 1 9gd & T 15 e o1 wwr fen e ® | w93 <t faaror Srae § 02.15 ot fokan s |
02.15 5151 § 02.30 911 T BT hadl IH-U3 1 T 3R 36 FafY & IRE 3 IR-YRash T HIE W el
ot |

SECTION - A/ @UsS - A
Answer all Multiple Choice Questions.

[t agfashcdta U9t o I ST |
1. A neighbourhood or a village are good examples of which of the following ? 1
(A) Community (B) Society
(C) Urbanization (D) Association
T TS 1 e frefafed § 9 frash o= Seem § 2
(A) THHE (B) HHIS
(C) ==Y (D) ==

2.  The Industrial Revolution that started in Europe in the late 17" century gradually impacted 1
the entire globe. Identify the factor that cannot be associated with this phenomenon :
(A) Production moved out of households to factories.
(B) The role of capital in the production process increased.
(C) People from all strata took to agricultural activities.
(D) Many women entered the work force.

9§ 17 Tt | g SHenfien shifa -+t ol fova # el T | 39 FRE HT TEEE B S 3
TfEeT | e g7 el ® ¢

(A) 3cRA =R Y et wR@M! § <l 741 |

(B) 3cured ufskan | St =t YfHrert =g T8 |

(C) 9t =Tl < w3 hfw Tfdfafel st sToAm |

(D) G+t ufeemsti 7 wrf & § yorw fhan |

3.  Karl Marx was the chief architect of the economic theory of social change. Pick the view that 1
does not match with the Marxian view :
(A) Capitalism emerged because of contradictions in feudalism.
(B) There would be a class struggle between the farmers and the workers.
(C) A revolution would be carried out by the workers.
(D) Socialism would emerge as a result of the ills of capitalism.

el AR AT aiads o ST fagid o 981 AR 9| 9 § 9§ e 94 S Aredanet
g&ﬁmﬁﬁaﬂﬁ@m

(A) ISiaTE 1 35 THAaTE H faRIEnrEl o SR ga |

(B) forami iR A/l & o arf-Herd BT |

(C) 4l g B T Hifd |

(D) YSiaTg & gUEdl o IRUFETEY THISENR 1 36 B |
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4.  For simpler understanding, Anthropologists have defined a tribe as a social group that :
(A) Has territorial affiliation and no specialization function
(B) Is exogamous in nature

(C) Is conscious of territorial and ethnic homogeneity
(D) Only (A) and (C) are correct

WA T & e, wraems enfeardt =men s T A 99g | & § forme
(A) TH ffeaa & § e = S § SR i fafereisi T2 g |
(B) ¥epfa H wfefdamt €1
(C) A TR T IS T &1 THhell o TR H SIFTE 2 ¢ |
(D) A (A) 3R (C) & T |
5.  Sociologists have identified certain essential attributes of society. Which of the following is
not an attribute ?

(A) Inter-dependence

(B) Likeness with no difference
(

(

) Co-operation among members
THSIRITET = FHIS % T &0 1 Te=r ¢ | f7 3 § S &1 aew 72 § 2

C
D) Can have conflicting relations

(A) Teh TR W AT AT (SAAfRE)
(B) form forelt fasig & wma
(C) wTe= & o= H "edm
(D) TR forieht Haiedi o1 BT
6 Which one of the following will not fall under consanguineal kinship ?
(A) Relationship between child and parents
(B) Relationship between uncles and niece/nephews
(C) Relationship between father and mother
(D) Relationship between siblings with same set of parents

frfafaa & | sH 9 e Aaer & i 7@ S 2
(A) o= 3R Ara-Taar & o= oy
(B) =T SR ST/ TSl o o Heiy
(C) fam iR #T & o= ele
(D) TEM - fadt arel 9E-s8l o ote dgay
7.  Identify the factor that cannot be associated with poverty faced by a number of families in
our country.
(A) They are landless and are dependent on others for work and wages
(B) They have to work at low wages

(C) They get work all the year round
(D) They have to take loans at high rates of interest

3T HRF B! TeTH Hi T TR < H hE URARI gRI FHAT 61 S &I 7 59 T 9 1 Ser o
Hehdl ¢

(A) I YfEEH 2 IR %M 9 el & fau gl W el 7

(B) 3% hH IAdT T HMH R TSl §

(C) =% R a9 & e §

(D) 3% 3= AT T W KT &A1 ISl ©
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10.

11.

12.
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Illiteracy is a curse for modern society because it leads to :
(A) Ignorance

(B) Deprivation

(C) Often wrong thoughts and actions

(D) All of the above is true

frerar syfer T o faw weh iy €, w=ifs o7 f1 o0t 3R & Sran €

(A) ST

(B) SAHTERI

(C) T fo=R iR &

(D) Wi Tt T 7

Identify the factor that is not linked to membership of a caste.

(A) Ascribed (B) Hereditary

(C) Transferable (D) Assigns a social status
39 FRE ! TgAM HL Sl {HE S ht Tl I &1 Tl © -

(A) Hed (B) SRwET

(C) TJAIARd (D) HrHITSTR Yfeerdt YeH

Which fact is not considered by sociologists in their understanding of Institutions ?
(A) They are basic constituents of society

(B) Important for survival of society

(C) Is simply an organization like a school or a hospital

(D) Six primary institutions are found in almost every society

Heqrel & Hay H gaSEnier gr fhy deg v foam 7@ foran Sirar ?
(A) o HAS & A Teh §

(B) o HUN & i & fau mewy §

(C) I o foaemerd iR STeqarat St U Geen §

(D) I & TS H 8 mefher Heemd u st §

Favouritism, dowry, foeticide, immorality etc. will all fall into which form of corruption ?

(A) Social (B) Political

(©) Religious (D) Professional

T&TITd, Teol, YUTRCT, STfaehar oTfe Ye=R & fohe &9 # ST ?

(A) G (B) TSHfaeh

(C) e (D) TR

Which of the following is not a feature of caste system ?

(A) Segmental division of society (B) Restrictions on occupation, food
(C©) Endogamy (D) Non-hereditary

frefafed § 9 iF W Sfq-seeen o a5 76 § 2

(A) HHS I GUSTHS TAYTSH (B) I R IS W Hfdare
(C) rifeiaTe (D) TR-swTgT

[=
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13.

14.

15.

16.
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The Survey Method of social research can be classified as :

(A) Evaluative (B) Predictive

(C) Explanatory (D) All of the above
TSI STIEHM 1 Haer fafy 1 38 YR avfieha foman ST Tehell © :
(A) HeAHATHS (B) feasr <uish

(C) ATE=ATHS (D) SWIed g+t

Modernisation is a broad concept. Which of the ideas mentioned below brings out its essence ?
(A) Any culture can modernise without adapting to western values.
(B) It does not imply abandoning the traditions totally.

(C) Requires integration of rational aspects of tradition with suitable aspects of modernity.
(D) All of the above ideas are true.

SR T S SR | Frefafed # % w0 forEr ST AR e e § 2
(A) i off Tepfa afeedt geai sl STIAT forT STefTehRiehtor Y Hehdl ¥ |

(B) 3! Ha™ WS I I TE ¥ I TR 8|

(C) eMYfTehal o ITFF TeT o |1 TFRT o TehGTTd U831 o TR i STETIHA ¢ |
(D) IR 9+t fa=amR ¥ |

Scheduled Tribes have been conscious of their identity since long and have organized
movements against :

(A) Zamindars (B) Jagirdars

(C) British rule (D) All of the above

Y SHSIfaal ol 9Hg ¥ 9 Ted % Ufd ¥=d W SR %M 39 faes stidier
st fore €

(A) SHIER (B) SIMRER

(C) forder wmeA (D) STl |t

Traditional occupation system known as the Jajmani system is gradually eroding. What has
been the main reason of this trend ?

(A) Land reforms has altered traditional land ownership structure
(B) Market economy has spread
(C) Nature of inter-caste relationship is changing
(D) All of the above
TREAeh e JoTelt T8 STordT=t 2reeen & 19 § ST S |, k- o e 2 @ | sHH g
FE
(A)  off guri 7 TRuRe YfF T S & a6 fo §
B) ISR 3TefeHerEe I Jokl

(
(C)  3T=siica Geiell sht Wehfa oiget Wl &
(D)

D) S |t
[=]
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17.  Which of the following qualify as a social group ? 1
(A) Audience clapping after watching an interesting play
(B) A crowd witnessing a protest rally passing by
(C) Residents welfare association meeting every week in the colony common room
(D) Random people at a railway platform waiting to board

Foretferad § & S o QT T ?

(A) TH fST=ed T @ * 918 Sk drell ol @© & |

(B) T fodiyr et <@ @I i 9 § TSR @I ©

(C) ! & AT T H T TR ATSH JThaR THITAULE i 3 Bl §

(D) Y WIEHH W TG o SASIR | Saidie @nt

18. Fill in the blanks. 1x2=2
(i)  Kinship terms help us in understanding the (interrelationship/ friendship/
problems) between various members of a family and their status and role within it.
(i) The relationship between mother and child is the starting point of (affinal/
consanguineal/fictive) kinship.
et orm Wil
() R % 9 uRar & fafu= wewi & (STl / <t/ FueATd) iR Skt
fearfa wa gffent 1 THeH # Heg it T
(i) W R o= F = F e (SFarTfeh / FrER / FHIeafTeh) et i YesTd B |
19. Fill in the blanks. 1x2=2
(i)  Rural societies have a relatively (developed/self-sufficient/ professional)
economy particularly in terms of production and consumption.
(ii) (Pull/Push/Resource) factor means the relatives in the town invite their
close people and try to give them jobs.
et wormr Wit
(i)  TITel i STefeEERe (faefad/ sreafaafiR/T¥eR) ¥, WHdR ¥ Sced Ud ST &
SER N
(i) (Ei=r/ uehar /g|meT ) ot feafq o1 ST amwenfeEl 1 3k el § 99 U
fehe Faieht =1 M feetm o fog wedl # sfad e B
20. Define One Word. 1x5=5

(i) Kinship terms that cannot be further reduced or broken down into simpler words are

referred to as -

ii) A joint family system where the extension of family is along vertical lines is known as -

ii) When the descent is traced through the female line, it is called -

iv) Kinship behaviour under which kinsmen do not address each other directly is referred
to as -

(v) A person who is the basic point of reference in determining and tracing kinship is -

T W8 H qRefa wifse |

() O TRER Ue S iR B vrsal | Y aIgen A1 rer < Hehdl S9 HEd § -

T IR Joedt STl TRaR =1 foedR Seater el & a1 € ], 3 Fged ¢ -
(i) T ST B S H R T IE § q 3 Fed | -

TAERT % s § e ferdt A ¥ gy R S € A 9w ¥ -

(v) o% Af fSas SR W ARl ffead &1 St ], e § -
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21. State True/False. 1x2=2
(i) Movements that aim at restoration or reinforcement of old, traditional systems can be
termed as counter-revolution.

(i) Functionalist theory states that every pattern of action, belief and interaction tends to
generate an opposing reaction.

el 91 Terq feafam)
() o AREE S g, WO Tsfiadl i STl e JIEO & 3evd § 9 9| §, o
‘gfd-shifa’ Feamd 2 |
(i) HrATHHRT F FHG % ATIR T, favear o) stfshen T faadta ufafsean &1 =91 <3 =1
I LA
22. State True/False. 1x3=3

(i)  Every group is structurally organized.

(i) Based on the presence or absence of formal rules, groups can be defined as formal or
informal.

(iii) Family as an association is a group whereas an institution, is not a group.

el 91 Terd fefam)

() T GUE HEAIHS ®Y 9 Hfed ¥ |

(i) et sirvenfen fram =t Sufeafa steEn stquftefa & Tg &1 =i =1 sH=nie w98 §
wRee fofam S ket 2 |

(i) TH HY F ¥ H IRAR T THE ¢, TR Teh HeA1 o 9 H T8 T2l |

23. Answer the following Assertion Reasoning Questions. 1x4=4
eferfed gei < SR <ifery |
(i) Based on the following identify the correct option.

Assertion (A) : The direction of evolution can easily be reversed from the complex
stage to the simple stage.

Reason (R) : Evolution is an irreversible process.
(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

11 & 3MYR W w& foshed &l AT

T (A) : fam &t foen &1 omam § Sfed § e &1 IR uRafda foran s dehat 21
HIOT (R) : T wh eTafied=ia ufran ® 1

(A) (A) W&, Al (R) Terd &

(B) (A) e, W (R) Wl §

(C) THI(A) 3R (R) Tt &

(D) THT (A) 3R (R) ToTd &

[
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(i) Based on the following identify the correct option.
Assertion (A) : Revolution is a sudden and abrupt overthrow of the existing social
order.
Reason (R) : In French revolution the rule of the emperor came to an end suddenly.
(A) (A) is true, but (R) is false
(B) (A) is false, but (R) is true
(C) Both (A) and (R) are true
(D) Both (A) and (R) are false

=1 & 3TeR W wE fashed =l AU
TET (A) : HINE | ae R USf ® TS SR SRS @IS ok S i
frerfar ifa 2t 21

THIUT (R) : id 1 Thifd o hod®d THTIE shi Gl TsheH T &1 TS o |
(A) (A) T&, Wl (R) Tod @
(B) (A) oW, feR (R) Wl ©
(C) =i (A) 3R (R) W&t &
(D) <HI (A) 3R (R) Terd &
(iii) Based on the following identify the correct option.
Assertion (A) : Socialization is an ongoing process.
Reason (R) : It helps the child to grow and develop physically and mentally.
(A) (A) is true, but (R) is false
(B) (A) is false, but (R) is true
(C) Both (A) and (R) are true
(D) Both (A) and (R) are false
11 & YR W w&l foshed &l AT/
TET (A) : FHISHH AR e del Teh Tk T |
HIUT (R) : I8 5= i AN IR AMfaw gig iR fasm § ggmm & T
(A) (A) T&, AfA (R) Tord ©
(B) (A) e, WfehA (R) Tl ©
(C) THi(A) a?r{ 14%'1 g
(D) <HI (A) 3R (R) e &
(iv) Based on the following identify the correct option.

Assertion (A) : Human society has rarely experienced changes.
Reason (R) : Social institutions have undergone tremendous modifications from

the times of our forefathers.
(A) (A) is true, but (R) is false
(B) (A) is false, but (R) is true
(C) Both (A) and (R) are true
(D) Both (A) and (R) are false
11 & YR W F& foshed &l AT
TET (A) : TG FAS A RS & e aRadHl o1 sT9d fohan 7
HIOT (R) : THETST Geensti o qaisii & 99 ¥ Agyd oee & © ¥
(A) (A) T&l, AfhA (R ( ) et §
(B) (A) TTerd R) W& ¢
(C) THi(A (R) a%“r g
(D) B (A) 3R (R) Tord €
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24. Inthis question there are a total of 4 items Match the Columns type question items carrying

1 mark each. 1x4=4
(i)  Nuclear Family (a) Implies that the interest of the family as a whole is
more important than individual interest
(i) Matriarchal Families (b)  Isbasically a bilateral grouping made up of husband,
wife and relatives on both sides
(i) In Western Countries (c) Isa type of family based on size
(iv) Familistic Interest (d) Examples, Nayars of Kerala and Garo tribes of
Assam

() Married couple reside in the wife’s parental
household or community

(f)  Young couples mainly prefer Neolocal family

30 U § e 4 TUeT™ U9 &, Uk U9 Uk 39k T T

(i) THA IRAR (a) Te9d 7% ¥ o 9w ®9 § uRar o1 feq Afora fea @
HAfeen Tl §

(i) AHAREE qRAR (b) T ®9 9 Gfd-ge 3R ST vl & fdedi 9 59
fguafta w98 81

(iif) fe=et <u | (c) SRR o STHR T YR IRar |

(iv) uRarardt fea (d) ST % I et & AR SR ST St MR SESaar

(e) Toenfea sl it & fodr o =X 3teren wqe@ § a9

HAT S|

(f) SaE SIS G €9 ¥ TIEIH dTel TRER i Sgal 7
g

25. Read the passage carefully and then answer the questions which follows. (1 Mark each) 4

The followers of Judaism are known as Jews. The ancient Indian settlements of Jews
are in Cochin and Maharashtra. Both the settlements are small in number having a combined
population of not more than twenty thousand.

The Jews of Cochin have maintained their religious identity for at least a millennium. It
was in 1020 AD that the king of Cochin gave the Jews the right to live and enjoy privileges,
such as the right to ride elephants and to go with a state umbrella etc. Later, the Jews came
to be divided into two groups-the white Jews, who were lighter in their skin color and traced
their kinship to the original migrants and the Black Jews who were dark skinned. Between
these two groups of Jews there was no similarity in food habits and marriages.

By contrast the Jews in Maharashtra are large in number. The Jews of Cochin were
different from the Jews of Maharashtra. These Jews are known as Bene Israel i.e. Sons of
Israel. They live in several Konkani-speaking villages as oil pressers, since oil pressing is not a
prestigious occupation, they do not rank high in their villages. As they do not work on
Saturdays, they are also known as Saturday Oilmen.

(i) What were the Jews of Maharashtra called ?
(i) Mention the rights and privileges granted by the King of Cochin for the Jews.

(iii) Which religion is followed by the Jews ? Where had they mainly settled down in
India ?
(iv) Write a brief note on the ‘Bene Israel’.
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26.

27.

28.
29.

30.

31.

w/es 3y NNATI EDUCATIONS ©

o1 TTeneT Rt e ufey R e fau e weHl o SeR i)

IEal o R T ATl Sl Igat Hed © | I RATT Fgedl o R AT AT hi T W
¥ 37 S T 6t S agd SIS W& | €1 3T ST 20,000 ST ¥ |

I o AGfCAN 7 ST TEAH Jrei T (e o6) § o W& ¢ | ed © o 1020 Ireal
T = o TSI A TR ol FS fomw Afesr fed &1 37 favm sifenil # =1eft &t war 3R Tsehi™
AR ol R T A | o1 H 3 T8GRI &1 IRl § e T4, Tod Fgat et @ 9ihe off 3iX S s1oH
3TTIeh! HifeTsh agal A &, T g 98 SRt 11 h1ell o1 | Igfedi < 59 91 9el § @H-TH 3R
forame o IS Ty el 9|

3O foadid werTe § Tgfedi i e Jet 1w % g, "R & ggied 9 fu= €
HERTSZ 3 AR[CAN ol SISSISe A SISet o T e § | SHIHUT ST Sier ot el § ¥ 75t ad
1 YR S © SRR it o He Fiafesd e Tl § | Td: 319 e H ITeh! € 3o T 81 o
AR 1 M & H, S= AR 2Fe T ot el Sa1 € |
()  HERIS % el hl 1 el S o ?
(i) T % TSGR Fgfedt i feu T sifrerl e farmfeRl @ seera wife |
(i) FEel g o 1 e a2 F IR § 0 T G Fel 99 F ?
(iv) ‘oS’ T T Giya feunt fafeau |

SECTION - B/ @Us - B

Answer the following questions in around 100 words. 2x6=12
Fefarad 5 9 Udich Y99 hl ST T 100 &S | far@y |
What perspective is adopted by the functionalists in their attempt to analyse society ? 2

geRTdentedl grRI THTS! &1 favelvur vl < 9a1d H I |1 IRUe ST9-ET S ¢ 2

(a) Distinguish between ‘natural inequalities between people” and ‘inequalities in their 2
conditions of existence’.

‘grepfass TR seRl’ 3R 37 * s1fedca ot qumedl i IR e’ § SR T & |

OR / 3eran
(b) How is Hypergamy different from Hypogamy ?
s foame 3R wfaem faame & i i € 2
Discuss how does Karl Marx understand the ruling class and the service class. 2

a1 o o ehTel W ATEeh o SR Sa o Wi he HHEd © 2

What is dowry ? Why is it regarded as an evil practice ? 2
TS 1 ? 3 Tk FUAT F T SO € 2
Highlight the role of Public Opinion as an agency of social control. 2

TSR 01 1 TSiHt % w9 § SHAd R fHeh T YR Sifert |

(a) What is corruption ? Mention some of the manifestations of corruption in daily life. 2
YRR 1 § 2 < o # YR &1 $8 feafadal &1 Scord |
OR / et
(b)  What is poverty ? How does illiteracy contribute to poverty ?
TSl SR © 7 FIRaRan s H# 9 ANeE i § 2
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Answer the following questions in around 200 words.

frfafaa woel o SAT Rt 200 vrel ® Sifew )

32. (a) Describe how the subject matter of Political Science is different from that of Sociology ? 3
Tl i o T foam ot faseeg aaemmes @ fha yar i €2
OR / 3teren
(b) How do the concepts of status and role establish a connection between Sociology and
Psychology ?

gieefd 3Tk Jffeht &1 STTERen FAIfo 3R THISEI & o9 HY Hae wfid & € 2

33. What are challenges of using participant observation technique of data collection ? 3

TRTER SRt Tervr fafer grT oiffehs geheat e | o gAifaar € 2

34. Discuss how caste and economy is linked ? 3

==t Y Tom Sfa 27X stefeaeen forg YR Heifed © 2

35. (a) Explain the relationship between Assimilation and Socialisation. 3
TAITIeRTOT T FHTSIERT0T o Hele] T i |
OR / 3ten
(b) What are basic principles of role theory ? How does the process of role taking help in
developing personal identity ?

Jfirent Faitg o fagia o qerya fom @ 2 yfyen fam =it ufsran for yem =afore o

H wEre Bt § 2
36. (a) How do customs act as a means of informal social control ? 3
Tl fohe TehR § WIS F1E01 & STo=iich TIEF & &9 H Sl ! 8 2
OR / et
(b) How are laws different from customs ?
FTA genelt ¥ forg yehR = 82

37. One of the major problems faced by the Scheduled Tribes is displacement. How does that 3
affect the tribals ?

ST SHSIaa o T STHaTe T FHeel § 9 T fowemad €1 98 3% e YR gHifad
A B2

38. (a) Whatis the difference between ascribed and achieved status ? Explain with the help of 3
examples.

e IR 2AfSia wfeafadi § = 3 € ? Sfud Seeon g’ T &l |
OR / 3terar

(b) Discuss the four forms of marriages that are considered proper and desirable in the
traditional Hindu Society.

R fowg ot § foamg & fh=dl 9R ey i st iR aifed o9 3 €, T & |
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Answer the following questions in around 500 words.

frfafaa woel o SAT @R 500 vrel W S|

39. (a) Ithas been observed that deprivation and discrimination is still faced by a girl childin 5
some sections of our society. Explain with examples from contemporary societies.

TS § A+ft off T TSkl I Sfear R Sgurergul frodt § SEd € | IHeRel SHS 9 3R
TR T |

OR / 3teran
(b) What is Population Explosion ? Explain the three stages of population transition. 2+3
SHE faehie | o der § ? SIES SR o il staeens i Hfasdr JaqEt |

40. (a) “Family is the basic unit of social organisation”. Discuss the specific features or 5
characteristics of the family.

" qfRER AT e i et ST © ' | ORER i fagmarsti W == it |
OR / rerar

(b)  Certain, definite and comparatively stable patterns of behaviour of different members
of a kin group are in place. Explain the kinship behaviour based on avoidance,
avunculate, amitate and teknonymy.

TEH SRR A HeER i A Afqar e Tg % ae @ Bt § | TR # 59 it

S IR, Oge grery, fageran sifeR iR ST Hala Tl % SHR W NS S8R &t
T 1|

Optional Module - I : (Status of Women)
qehfeueh WIS - [ : (WfEcTreil ot WIS &Y )

41. Name the reformer whose name is associated with the Child Marriage Restraint Act of 1929. 1

(A) Raja Ram Mohan Roy (B) Ishwar Chandra Vidyasagar
(C) Harbildas Sarda (D) Dayanand Saraswati

IH YRS H1 A9 Fq1eC fSrEeht A 1929 % o1t faare foy sifufeag 3 o e
(A) T TH Higd T (B) IR % A&

(C) TfeIele™ WREl (D) <AME Tl

42. Which Article of the Indian Constitution declares ‘the State shall not discriminate against 1
any citizen on grounds only of religion, race, caste, sex, place of birth or any of them ?

(A) Article - 14 (B) Article - 15(1)

(C) Article - 14(1) (D) None of the above

IR WfTLM 1 ®H 91 T8 =id Hdl § 6 T fovdt it & faems waa oH, qoay,
STt e, S Tom a1 39 9 fohdl & STUR W 9euTd 7Rl O ?

(A) =% - 14 (B) 3T=T - 15(1)

(C) 3TT=T - 14(1) (D) SR H ¥ i Tl
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43. Which of the following terms refer to the death of mothers in child birth ? 1

(A) Infanticide (B) Foeticide
(C) Maternal mortality (D) Death rate
frefafed § 9 &F 9 9% o= % S % QNE ST i Jo Sl FIUd H © 2
(A) g gen (B) o=
(©) T T (D) TR
44. India’s sex ratio, which stood at 972 women per 1000 men in 1901, had declined to 1
per 1000 by 1991. (Fill in the blanks)
IRA <1 fefm e7gar 1901 & 9fd 1000 T&ui W 972 Afgad 3R 1991 § a8 w2 afd

1000 21 7= o | (e T oY)

45. During the (Medieval/early Vedic/later Vedic) period, evil practices like sati, 1
child marriage or ban on widow remarriage did not exist. (Fill in the blanks)

(TRl / IRfYer afesws /S afesh) +1a & SRE Tt 9o, o7 faereg o faeen
Afdare Ufdeier St Fyemd T&i off | (R T @)

46. The difference between men and women as created by the society - (Define in one word) 1

garet ¥ gl IR Afgensii & ote S - (T wss § uRenfud %)

47. Feminists believe in the idea that women’s biological make up determines their abilities. 1
(True/False)

el fagard wtd § T Afgenati i Sifaes S=m & Sen! amar fHuifa et €1 (98 /7o)

48. (a) Whatis gender discrimination ? Give one example from your day to day life to justify =~ 2
that we still experience it in our lives even today.

TR 9RHTE 941 § ? 379 STk STa o IS <d gU fHs Sifae fof 319 o1t off o1o Sfed
T F I W W R
OR / YT
(b) The Constitution of India laid the foundation for creating a social order where men

and women are treated as equals. What does the Directive Principles of State Policy
prescribe in this regard ?

YRS G 3 Tk TH AT e Tfd shid i id Siell foed 3a o SAeH 99 oH
I | TsT & ifa e fagri 3 39 fohg g Tenfya fan 82

49. (a) A series of laws have actually paved the way for bringing about major changes in the 5
lives of women. Enlist any five such laws that have been passed to protect their rights.

A I Tk el arqd | Afgelisli & Sied § o Sad o 1 JFl YR {61 § | 7
sTfueRRl nt T&T & fere wiika foh e foR=t e St 1 geieg i
OR / el
(b)  Describe the status of women in the Modern period of Indian history.

AR 3faem™ < MY il § Afgetied ot feufa i1 9o &
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Optional Module - II : (Indian Culture)
Yehfeuen ATSTE - 11 : ( WA GEhid )
41. Identify the fact that supports the fact that time is a determining factor in the cultural make
up of a people.
(A) Wearing warm clothes in winter
(B) There were no railways about 200 years ago

(C) About 3 decades ago people were not exposed to computers
(D) All of the above

SH T2 & TEAM L S T 91G 1 THT AT © foh AN ol Hitehiash URid H G Th HERE
R T :

(A) | # T FIS TET

(B) TWIH 200 ¥ YA hig ¥Tdl el off

(C) TITHT 3 S Y&l N hFel & HUeh H ol &

(D) SUUE |t

42. Based on the following, identify the correct option.
Assertion (A) : In the Indian society, the emphasis on ritual seems very high.

Reason (R) : The religious practices and values are constantly striving towards,
‘Samanvaya’ i.e. reconciliation and concord.

(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

11 & 3TYR W w& fashew =l AT :

TET (A) : IR FES H, ATSH W a9 5¢ 7
THIT (R) : NTHE FTT 3R Yo TR To-a 37eiq dieriet 3Tk Jeud =i foun o 9o & @ €1
(A) (A) 9 «iferd (R) 7o

(B) (A) TTeTd wfeh (R) W&l

(©) = (A) SR (R) T

(D) = (A) SR (R) T

43. In the beginning of the 20t century during the British rule, distinct architectural school
emerged. Identify from the following.

(A) Revivalist school (B) Sarnath school
(C) Progressive and Modern school (D) Both (A) and (C)

20 off TSt i yeeTa | fafew yrm & SR, faftre argfiey faemem 1 35a gen1 frafafea 9 9
TEd :

(A) TecaE! hel (B) ERAIY Thed

(C) wfaefer SiR yfreh Tpet (D) THI (A) 3R (C)
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44.

45.

46.
47.

48.

49.

VETYUNNATI EDUCATIONS ¢

The painting can be seen on the walls and ceilings of the Ajanta and Ellora
caves. (Fill in the blank)

ST SR VAN 1 et i ER o wdl W) os oo et femm St €1
(e = 1))

Restrictions or prohibitions that are not permitted by society is known as (law/
taboo/force). (Fill in the blank)

3 gfdeier a1 Tk S FHIST 5T Wiiehd el © (fafu/afsiaraet) weam &1 (e T «))

The art and science of designing and erecting buildings is called - (Define in one word)

e[l % TAfS oM 3R word i 1 el weard § - (Th v § o)

Culture is unique to human species. (True or False)

LRt o et & fore sifgdia €1 (W&o

(a) Mughals were a great patron of literature. Discuss with examples.

TS Hifged o HRH W&k 9 | 33801 Higd <= |
OR / 3terar

(b) How is Indian cultural heritage considered so rich and diverse ?

IR Fieepias fated sat 99g iR fafaeamet F3 ar S € 2

(a) What is culture ? Explain the two broad components of culture.
Hepfa 1 €2 HERia o S SATIH FSh] i AT e |
OR / YT

(b) How is culture a learnt behaviour ? What is Enculturations ?

GEhid U T 3T S8R Fl § 27 GEhRI0 9 =1 arcad § 2

-00o0-
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